[ Efficiency vs vertpos |

< 0.1
20.09F
4
2 0.08F
(8]
§0.07H
(&)
£0.06
0.05
0.04
0.03
0.02
0.0

Ratio

L s A RAARS LRRRN RAE 8 RRRRS LARE LAARN

-

102 107 1 10 0?
TP vertr (cr%)

—=— DQM_CKF_TTbase

Efficiend —— poMm_CKF_TT retrainOldFiles125_v2_prelimWPM_epoch0

r o

b o
N

TTTTTT]

=30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
>
00.045
IS
7 0.04
$.035
2y
c0.03
@
8.025
(0]
0.02
0.015
0.01
0.005

1.0

Ratio

._.
T
1

bR I ] P 0 @ O U

-
. T Ik 4

051510 5 0 5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


